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Christopher Lee
Chapter 5.1
Section 1

3. Left f(x)=—i-

Finding the Area:

Work Right Endpoint:

a.Estimate the area of the region bounded by the graph
of f, the x-axis, and the lines x = 1 and x = 2
using four rectangles and right endpoints. Sketch
the graph of f and the rectangles. Is your estimate
an underestimate or an overestimate of the true
area? Explain your reasoning.

\\
X=0.25
1 \
y;1\x =0.25
\X =0.25

X=0.25

0.5 t y=0.8 : \ s . e
y:ms \

y=0.571

0 0.5 15 2 25

The answer Above would be an overestimation as it’s messing the graph
from above the line. Thus you would get an overestimation of the
graph.




Christopher Lee

Chapter 5.1
Section 1
Work Left Endpoint:
b. Repeat part(a) using left endpoints.
1.5
\
\
1
1 .
‘\“‘x " Width per box = .25
0.5 Y =08 —
0.667
Y =0.
! Y =025
0 05 15
The left endpoints method is an underestimation of the graph as it
measures below the line on the graph.




Christopher Lee

Chapter 5.1
Section 1

14. The function f is positive and selected values of f(x) over the

interval [2,38] are given in the table:

14

20

26

32

38

f(x)

18

20

16

10

Suppose this table is used to compute an estimate of the area under
the graph of f from x = 2 to x = 38 using three rectangles and
midpoints. Find the value of this approximation.

USING 3 RECTANGLES with Midpoint:

Visual Representation/Work:

Total Area: (12 x 12.5) + (12 x 17) + (12 x 12) = 498
20 ! 14
& X=12
i
X=12 X=12
10 =
ﬂ =
Y =17 o
1 Y =12
Y=125
] 10 an 30 40
12 12 12
{12.5)
X 2 8 14 20 26 12 38 {17}
+(12)
f(x) 7 9 18 20 16 19 8
=415
x12

(18+7)2=125 {16+18)/2 =17 (16+8)/2 =12

=498
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